FUBAG Komnpeccop FC 230/50 CM2 (230 a/mun_50a1 86ap 1.5kBr) (IIUDP 61431379)

HO3UIN |  KOJI HAVMMEHOBAHUE KOJI-BO
1 45.053 BOJIT (M6x55) 4
2 45.092 IIIAIEA TPOBEPA (6) 4
3 03.034A T'OJIOBKA BJIOKA LIMJIMHJIPA 1
4 40.001A ®OUTHUHI YTJIOBOM (3/8"-3/8") 1
5 46.400 ITPOKJIAIKA BJIOKA LIWJINHPA 1
6 11.004A TIJIACTUHA KJIATIAHHA S 1




7 34.001B IJIACTUHA KJIAITAHHASI 1
8 35.200 TIPOKJIAJIKA LIMJIMHJIPA BEPXHSIS 48%62 1
9 10.016 LIMJIMH/IP (d47) 1
10 35.005C TIPOKJIAJIKA 1IMJIMHJIPA HDKHSIS 1
11 45.150 BOJIT (M8x25) 2
12 45229 IIAMBA TPOBEPA (8) 2
13 20,018 HABOP KOJIEIL] d47: 2
14 ' KOMIIPECCHOHHBIE+MACJIOCBHEMHOE 1
15 28.015 TIOPILEHb (d47) 1
16 30.002 TTAJIEL] TTOPIIHS (d12x37.5) 1
17 46.005 KOJIBLIO CTOIIOPHOE (12) 2
18 03.015 IIATYH (89xd20xd12) 1
19 12.002 KOJIEHBAJI 1
20 45.154 BOJIT (M8x22) 1
21 45.124 BOJIT KPEIJIEHUS KPBIIIKH (M6x18) 4
22 3300 | MEPHOE OKOLIKO YPOBHSI MACIJIA (1/2)+KOJIBLIO !
23 ' VIUIOTHUTEJILHOE 1
24 03.012A KPBILLIKA KAPTEPA 1
25 36.001 ITIPOKJIAJIKA KAPTEPA 1
26 45.138 BOJIT (M6x10) 1
27 03.010 KAPTEP (d135) 1
28 32.002 CAJIBHUK (B20x40x7) 1
29 27.001 KOHJIEHCATOP (30mkf/450V) 1
30 45.231 FAPHfA (M8) 1
31 45.066 LIAHBA (8) 1
32 45.110 BOJIT (M3x6) 2
33 45.095 IIAMBA T'POBEPA (3) 2
34 31.006 MOJLLNITHUK (6204-2RS) 1
35 POTOP 1
36 CTATOP (230V/50Hz d135) 1
37 31.004 MOJLLNITHUK (6202-2RS) 1
38 46.001 KOJIbLIO YIUIOTHUTEJILHOE 1
39 03.0103 KPBILIKA CTATOPA 1
40 45.031 BOJIT (M5%110) 4
41 45.093 LIAMBA TPOBEPA (5) 4
42 37.001C KPbUIBYATKA 1
43 46.010 KOJIbLIO CTOIIOPHOE (14) 1
44 45.203 BUHT (M4x6) 1
45 46.066 TUIACTHUHA 3A3EMJIEHUS 1
46 45.058 IIAVBA 4) 1
47 46.019A KOJIBLIO YIIJIOTHUTEJILHOE (20) 1
48 06.002B KOXYX 1
49 45511 BOJIT (M5%12) 4




50 45.068A LIIAMBA (5) 4
51 45.123A BOJIT KPEIJIEHU ST KOXKYXA (M6x18) 4
52 26.004 CAITYH (M16x1.5) 1
53 42.201 COEJIMHEHUE BbICTPOPA3BEMHOE 1
54 23.046A MAHOMETP 40mm (12Bar 1/8") 1
55 23.047A MAHOMETP 50mm (12Bar 1/4") 1
56 25.081 PEL'YJISITOP (1/4"-1/4"-1/8") 1
57 42.026E COEJIMHEHUE PE3bEOBOE (1/4"x30) 1
58 21.002 PEJIE JIABJIEHU S 1
59 24.014A KJIATTIAH ITPEJTOXPAHUTEJIBHBII (8K gf/C nf) 1
60 42.021 IIEPEXO/IHUK (1/4"-1/4") 1
61 42.022 TAMKA 3/8" 1
62 46.026 TTPOKJIAJIKA (d6xd14x1.5) 2
63 42.002B TAMKA 1/8" 1
64 43.016G TPYBKA PA3BTPY30UHAS (d6x225) 1
65 22.013A KABEJIb CETEBOMH (1.0mm?2x1.5m) 1
66 08.020 PECUBEP 50L 1
67 37.008 PYVUKA 1
68 38.001A KJIATIAH OBPATHBIM (G3/8"-ZG1/2"-M10*1) 1
69 39.030 KPAH CJIMBA KOHJIEHCATA 3/8" 1
70 43.015C TPYBKA BBIITYCKHAS (d10x620mm) 1
71 44.016 TAMKA 3/8" 2
72 46.029 TTPOKJIAJIKA TPYBKM (d10) 2
73 46.029A [TPOKJIAJIKA TPYBKU (d10.4) 2
74 15.014 OITIOPA PE3MHOBAS 2
75 45.064 IIIAMBA (8) 2
76 45.231 TAHKA (MS8) 2
77 45228 BOJIT (M8x20) 2
78 46.039B BOJIT KOJIECA (M10xd16x36.5) 2
79 15.004 KOJIECO 2
80 45.090 KOJIbLIO CTOITOPHOE (10) 2
81 45.076 TAMKA (M10) 2
82 41.009A BO3JIVIIHBIA ®UJIBTP (1/2) 1




